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Tangential discussions re: n1ny ™2
a 7o p2yy.ind may put a bandage on his finger on naw in wpn (WTPN1 Maw PR) - but not to exude blood
i wversionl: ®»N 7T 72 T "1 only a '3, but not a proper bandage — it is a surplus of nrma
1 dissent (2177 ”7): no problem of D11 7’ except on a spot where 0131 are worn (not the finger)
(a) challenge: why isn’t it a problem of n¥'sn (between finger and >3 or 127p)?
(b) answer: could be on his left hand, or not at a spot where he uses that finger for nmay
2 inapposition to n”7. in the place of D™, even one string is “surplus”; elsewhere 3x3 myaxr is 1w
(a) note: anv 1 certainly is at odds with n™; N1’ "1 may not be — since he made the %189y, it is 21wN=3x3
il wersion2: XN 7T 72 N’ "1 only a ’n, but not a proper bandage — it is a surplus of nrma
1 dissent (21117 *): less than 3x3 is only a violation n>12 D1pn1; elsewhere, only 3x3 is a surplus — n" DWa K172
(a) question: is X171 now at odds with n”7 772 nmn> ?
(b) not necessarily: since he fashioned the 1¥5¥, he gave it significance (like 3x3)
2 challenge (to pny *7): why did the mwn choose "y, if even a nice bandage is permissible?
(a) answer: incidentally teaches that 'na has healing powers
series of questions posed by X11 (et al) regarding n¥’sn for N1 N3 72 (none resolved)
if:-wind gets into his garment, is this a lack of 17w2 %y (v. 1) or is this the ways clothes are worn?
if: a live louse gets in (dead lice certainly a n¥»¥n); since it’s alive, like a growth or since he cares to remove it — pxin?
if: dust (not dirt, which is certainly pxn) gets between his body and the nr1a — is it pxin?
if: he lifts his arm so the space under his arm creates a “division” — is this yxn? (is it normal wear or a lack of w1 Y»?)
if: he puts his hand inside of the garment - is his own body yxmn?
if: there is a thread hanging from the 131 — is this a n¥»¥n? (a loose thread certainly is a nx»¥n)
swN “7 72 742. if he has hair coming out of the garment — is this a nx'¥n? (i.e. is his hair considered his body?)
N7 7 is po2an a nyxn (according to PYran gt nYY 17n; if it isn’t pYran nr, since it’s a n¥¥n at night, then also by day)
i the question: is a mx¥n done on his body a n¥xn or not?
ii ~ ’nN /1 has a clear teaching — p%’an are considered a n¥'xn
iii  challenge: D103 at NT1aY, DY on their 1917 and Y®1w> at their Toyn are o™MV. from PYan — not "D MOR” = no NXXN
1 defense: had to say nv9, to include 9R1wn 0mY, where nmoR wouldn’t make sense
iv  challenge: xn>1 teaches that P9an are not pxin
1 resolution: 7 H® pPoan are pxin (due to N1INI), not WX Hv
(a) challenge: 1 is a violation of v. 1; but w&1 Yv is a violation of v. 2
(b) answer: description of 313 has hair showing between the y’x and nain — and that’s where p%an goes
Analysis of item #5 on list — 01193 901N
a  source: v. 3 — nnv1 implies that until that point she is nknv (and we already learned that nT1apn Nk Yo RNV)
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IV Analysis of item #6 on list — '93m 07 YINI RHW

a  source: npN::npIN from DT 90NN (VV. 5-6)
b xr7izif a 3'nd omits one of the pwITP or M2V on 2"nv (between changes) — nmay is valid
i but: if he or any 103 that performed nmay without @9 0 V1P in the morning — Yoa
1 challenge (12177 715 sox *7): since we hold that all 5 m¥%av and 10 pwyTp are n"nn — and the word NN appears
there — they should withhold and invalidate
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2 answer (72117 77): v. 4 stipulates nwa» — only wearing the garments is indispensible
(a) »or M was happy - but 31nv "1 dismissed his own answer - if that were the case, even D% 01 WVI1p of
the morning would be dispensible
3 resolution #1: wpm — v. 5 stipulates 1719115 = only that which is indispensible for his children is for him
4 v 7v. 7 lists 121 PR nwn — only that which is necessary for his children is indispensible for him
(a) note: wipn reads this verse as defining the size of a 913 — it must have at least enough for 4 nnn2
(b) note: 1M1y "1 sees v. 5 as directed m 119> mention of his sons

V  x®p»a - method of 09 o1 vITp

a

b

7"n: place right hand over right leg; left hand over left leg and allow water to come over
M 9”2 '0v " place right hand over left hand, place them over crossed legs and wTpn
i challenge: this is impossible
ii ~ 9o» ’1 not impossible — friend supports him
iii  point of contention (»7a8): whether standing with support is considered nny
1 question (81375): why not allow him to sit down?
2 answer: v. 8 states nWY; equating 1" v11p with service (which must be done Tmwn)

VI rn»a: time-frame of requirement of 0% 0 VIR

a

b

»37. every morning before nT1ay, but not at nightfall
i reason: Ny is impactful on 7" VTP
v7an7. if he was performing nmay all night, no need for 7"vp in morning
i reason: N9 has no impact on 7"vp
parallel x177772: if he was doing nmay all night and then it became light
i 237 requires new VVp
ii ~ w7ax7if he did 9"vp before onset of nTay, he can continue for days without needing a new 1"p
justification:
i if: we only had 1st xn»93, X"10 that *17 requires a new 71"’p because he wasn’t necessarily continuing an nmay
1 but: in case he was continuing, *27 might agree that he needs no new 1"vp
ii  and if: we only had 2 xn»93, ®"70 that w”ar1 would agree with 721 in case he wasn’t performing straight through
sources/rationale:
i 237 Dnwia (v. 8), ori1a is needed to ensure that we don’t err to think he needs new 1"vp for each nT1ay
ii  w7an7 ora (v. 8); onwia is needed to exempt a 103 who isn’t going to perform nmay (np» Nro1)
1 challenge: n1p nR»a clearly doesn’t require it — v. 8 stipulates n w5
2 rather: bW is needed to teach that 274 9"p of 37N (after N91v) is done when dressed — ready to serve (Dnwia)
ili  note: what is the need for nwR vpPnY?
1 answer: to expand requirement of 1"vp beyond mmay that are indispensible for n793
discussion about 131y "7’s report of Xa%»R regarding the waters of the 713 and if they become ny%a o108
i reportl (’077"7): posed question according to v”ar3
1 since: they are for 7"vp, which isn’t affected by n1% — ok
2 or: since they were sanctified in (112) n7w ’53, they are vulnerable to n»% 509
ii  report2 (137): Ra»R later solved it himself — the same npnn applies (i.e. w”ar1 holds they are not 151 D’Yva))
1 challenge: 130y "1 ruled that if the waters were not sunk in at night, they may be used for evening nmay but not
the next morning
(a) and: we weren’t sure if the reason is because there is no need for 9"vp or because they are n’5va)
(b) so: how could ®a»® have solved it?
iii suggested proof: v:3 RNV - PYP 12 made the special 713 fixture to ensure no nyY
1 and: that nwn follows w”ary, as earlier mwn in 8Ny 770 has 312 slaughtering 79 between narm o’ K
(a) and: w"ar holds that that is pax (expanding on 0’ 72 '0v *7’s definition)
(b) challenge: »21 holds that that is also pax — and more (i.e. mwn could be »27 > n1Ya o*ooal o)
(i) answer: if the mwn were authored by ’2v, it would have identified his greater area as the place
(i) block: it was done narm5 YR pa to be sensitive to 3”n2’s physical weakness
(iii) therefore: same answer explains why it could be 21 — could’ve been done over a wider area but was
done as close as possible to allow for 3"n3’s weakness
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